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1. State and explain the objectives of Production Planning and Control (PPC). [15]

Use the followmg methods to compute the forecast and comment on results
( a) Moving average (3 years and 5 years)
b) Exponential smoothing for a=0.3 and 0.7 [8+7]

An engine manufacturmg company:stocks-the items-as shown in the following table in its -
stores The unit price,: :annual consumptlon quantlty in.terms: of unlts/yeal are-also given in

‘the sarne table. Classn”y thie items into' A7 B; and C categories. ' o ki
Component | Description Price /unit Unit/year
Code S
C001 Connecting rod 500 600
€002 Crank case. | 4000, .. 600 »

/C003 . | Cylinder - .31 2000, Ju 3 GRER o |

1 co04- Cylinderhead ¢ 3000° e O
C005 Crank shaft 4000 600
C006 Cam 500 1200
C007 Nozzle 500 600
C008 Valve set 1000 1200
€009.--., Fuel injection pump; 1500, s b 6000 o i

Joig .. Exhaust plpe / 500 NG R

4. One unit of product Y is made from four units of A, one unit of B and one unit of C. B is

made from one unit of D and two units of E. C is made from one unit of F and three units
of G. Items Y, B, F and G have lead times of one week; items C, D and E have lead times
of 2 weeks and item A has a lead time of 3 weeks. Items Y. B, C and G are made by the

c"npany ‘and the.:’ "_her items are purchased The Gross requnements for product Y .during 3

A “next 12 weeks are 40 units inweek 6, 60 week in “week 9, 20 in‘week 10 and 50, weekin -
week 12. Suppose the company expects to have 50 units of A, 20 units of B, 40 units of E,
and 90 units of G on hand at the beginning of week 1. Construct the a) material
requirement plan for product Y and b) each of its components using lot-for —lot

. procurement for all items except E. [15]




A manager wants to assign tasks to workstations as efficiently as possible and achieve an
hourly output of 331/3 units. Assume the shop works a 60-minute hour. Tasks times and

precedence relationships are as follows:

orJasks 4 A bie;

" [Processing | 1.4/ 0.5 |
e 1 et
Immeditate | - a
predecessor

a) Draw the precedence diagram
b) Determine cycle time

¢):Defermine the An%-,ini;rﬁﬁih numbe_;f‘gf stations neeglé
/d)Assign.tasks t6-workstations o the RPW method:

For the following job-shop system,
The time spent in hours in processing two jobs on six machines A, B, C. D,Eand F

and the necessary technological orderings of machines are as follows.
Tabls Adp i Dl B3 B2 ElS

Job 210 | Gi30 -~B15  DO-FIS E20
Use ‘graphic method: to ~determinean optimal sequence-of jobs. which~minimizes. the
elapsed ARl [15] S ool
Draw move ticket, tool ticket and job ticket and explain various aspects of it. [15]

State and explain various steps involved in expediting procedure. [15]




